AP Statistics Name: Wf;

The AP Statistics exam was first administered in May 1997 to the largest first-year group in any discipline
in the AP program. Since that time, the number of students taking the exam has grown at an impressive
rate. Here are the actual data. Begin by entering them into your calculator lists.

Number of
Year students 1. Use your calculator to construct a scatterplot of these data using 1997
1997 1 7,667 as Year 1, 1998 as Year 2, etc. Describe what you see.
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2. Find the equation of the least-squares line on your calculator. Record the equation below. Be sure
to define any variables used.
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3. Interpret the slope of the least-squares line in context.
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4. How many students would you predict took the AP Statistics exam in 2006? Show your method.
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5. Construct a residual plot. Sketch it in the space below. Comment on what the residual plot tells

you about the quality of your linear model.

6. Interpret the value of »* from your calculator in the context of this problem.
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Quiz 3.2A



Are jet skis dangerous? Propelled by a stream of pressurized water, jet skis and other so-ca
bikes carry from one to three people, retail for an average price of $5700, and have becoms
most popular types of recreational vehicle sold today. But critics say that they’re noisy, dar
damaging to the environment. An article in the August 1997 issue of the Journal of the Am
Medical Association reported on a survey that tracked emergency room visits at randomly ¢
hospitals nationwide. The study recorded data on the number of jet skis in use and the num
accidents for the years 1987-1996. Computer output and a residual plot from a linear regre
analysis of the data are shown below. =

Predictor

Coef -] SE Coef T P
Constant -0.8 / 109.9 -0.01 0,994
“ Jetskis 0.0048308x/ 0.0002292 21.08 0.000
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1. What is the equation of the least-squares line? Be sure to define any variables you use.
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3. Is a line an appropriate model for these data? Justify your answer. (04
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At a conference for high school teachers, some data were collected on the age and current |

each teacher’s primary vehicle. The data were entered into a TI-84. Here is some output fr
two-variable statistics on the data.
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The correlation between age and mileage for these data’is 0.877

1. Calculate the equation of the least-squares line for predicting a high school teacher s ve
mileage from its age. Show your work.
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2. Interpret the slope of the regression line in context. / C'
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Here is a residual plot from this linear regression analysis ‘

3. Describe what the residual plot tells you about how well the
linear model fits the data.
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